Efficiency vs dr

0.2

o I M
< C |
g0.18:— B
> - N
00.16_— R
c r .
50.14F- &
©0.12F-F
0.1-f
0.08F -
0.06fF--f:
0.04f-fi--
0.02F -+
(o] G: T M i
= 1} -| —=— DQM_original_step2_ttbar-phasel-newgeom
&U [ —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
0.8 - L.——_DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
0.6f

1072 107

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
d).009
E
Q.OOS
9.007
>
$9.006
2
35=@.005
@
0.004
0.003
0.002
0.001

Ratio
=

1073 1072 107
AR(TP, jet)

Efficiency vs pu

50.05 - T T T T T T
o S TN O WO L T

i T S S S
L R Rt S A Y
[5) . . . . . .

F R S S St £
= : : : : : :

B SRR A SEE R 1
e
e S S 1
0.015 ﬁ; ----- oo b
0.0 o [l L 4 b g
0.005

0
il

Ratio

0.8F

0.6

14kt
+

“50 60 70 80 90 100
Pileup




	Contents
	Page 1


